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Instructions : (1) Figures to the right indicate full marks.

(2) Show the necessary calculations as a part of your answer.

1. “Satyasankalp Works Ltd. manufacturer of product ‘A’ uses a standard cost system.
Standard product and cost specification for 750 kgs of product ‘A’ are as follows : 14
Materials Quantity Price per Cost X
(kgs.) kg.

X 600 5.00 3,000
Y 150 8.00 1,200

Z 150 2.00 300
900 5.00 4,500
Output 750 6.00 4,500

Material records indicate :
Materials  Consumption in March
X 1,17,750 kgs @ ¥ 4.80/kg
Y 28,500 kgs @ X 8.40/kg
Z 27,000 kgs @ X 2.20/kg
Actual finished production for the month of March is 1,50,000 kgs.

Calculate :
(i) Material Cost Variance
(i) Material Price Variance
(i11)) Material Usage Variance
(iv) Material Mix Variance
(v) Material Yield Variance
OR
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1.  Devnandan Manufacturing Ltd., data relating to workers employed for production of

one unit of production is as follows :

Types Hours | Wage Rate¥ | Total Amount ¥
Skilled Labour 45 12.00 540
Semi-skilled Labour 72 6.00 432
Unskilled Labour 36 9.00 324
153 1296

Actual performance : Actual Production 150 units.

Types Hours | Wage Rate¥ | Total Amount ¥
Skilled Labour 6,300 15.00 94,500
Semi-skilled Labour | 13,500 5.40 72,900
Unskilled Labour 5,670 9.00 51,030
25,470 2,18,430

Calculate following variances :

(1)

Labour Cost Variance

(i) Wage Rate Variance

(ii1)) Labour Sub-Efficiency Variance

(iv) Labour Mix Variance

2. Nirgun Co. Ltd. is having standard costing system in operation for quite some time.
The following data relating to the month of March 2016 is available from the cost

records :
Particulars Budgeted | Actual
Output (in units) 90,000 97,500
Operating Hours 90,000 99,000
Fixed Overheads (%) 1,35,000 | 1,50,000
Variable Overheads (%) 5,40,000 | 5,64,000
Working days 25 26
You are required to work out the variable overheads variances and fixed overheads
variances.
OR
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2. From the following data of Bhaktvatsal Co. Ltd.,

Calculate :

@
(ii)
(iii)
(iv)
)

3. (a)
(b)
AF-116

Total sales value variance

Sales price variance

Sales volume variance

Sales mix variance

Sales sub-volume variance

Standard Actual
Sales Sales
Price Price
Product | volume Amount | Volume Amount
per per
kgs. ) 4 kgs. . 4
unit unit
4 4
X 2,500 22.50 56,250 2,500 |22.50| 56,250
Y 1,600 54.00 86,400 2,400 | 56.25 | 1,35,000
Z 1,500 | 42.00 63,000 2,000 |40.50| 81,000
Total 5,600 2,05,650 6,900 2,72,250

14

Explain the concept of Time value of money and explain the concept of

compounding and discounting in brief.

Sugam Ltd. wants to purchase machine worth of ¥ 10,00,000. Expected life is 10
years. Its scrap value is I 1,00,000. Before tax expected profit for five year is as

below :
Year 1 2 3 4 5
Profit in ¥ 3,00,000 | 4,80,000 | 4,60,000 | 4,20,000 | 4,00,000

Tax rate is 50%. If depreciation is calculated on straight line method. Calculate

payback period.

11
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(c) What amount will be, if invested ¥ 25,000 for 4 years at 10% compound interest
per annum ? 3

(i) Compounding is done annually
(i) Compounding is done semi-annually
OR

3. (a) The Sahajanand Ltd. wants to purchase a machine at the cost of ¥ 5,00,000.
Estimated life of the machine is 5 years. There is no scrap value of the machine.
Expected rate of return is 15%. Tax rate applicable is 50%. Estimated income
before depreciation and tax is as follows : 7

% 1,75,000, X 2,00,000, X 2,60,000, X 2,25,000, X 1,50,000

Calculate :

(1)  Payback period on the basis of discounted cash flow

(1))  Average Rate of Return.

Note : At 15% discount factor, the present value of ¥ 1 for First Five years is

0.870, 0.756, 0.658, 0.572 and 0.497 respectively.

(b) If Mr. X invests T 5,000 each year from the end of 7" year to the end of 15" year,
what is the amount received by him at the end of 15" year, if the rate of interest is
15% p.a. 4

(FVIFA 15%, 15
yrs = 47.580, FVIFA 15%, 6 yrs = 8.754)

(c) Explain the concept of average rate of return method. 3

4.  Upasana Company Ltd. wants to purchase one machine out of two machines as details

below of Machine A and Machine B : 14
Particulars A B

Estimated Utility years 5 5

Purchase price of machine (%) 6,30,000  5,25,000

Erection expenses (3) 50,000 75,000

Scrap value (%) 80,000 50,000

Income tax rate 50% 50%

AF-116 12



Expected rate of return of company 12% 12%
Expected income before depreciation and income tax :
Years L4 L4
1 3,50,000  5,00,000
3,00,000  3,50,000
4,20,000  4,20,000
3,70,000  2,50,000

A W N

3,50,000  2,20,000

You are requested to guide the company, out of two machines which machine is to be
purchased under :

(1) Pay back period method

(1)) Average rate of return method

(i1) Net present value method.

Why ?

Present value for the First Five Years at the rate of 12% discount for ¥ 1 is 0.893,
0.797,0.712, 0.636, 0.567 respectively.

OR

4. Sulabh Company Ltd. is considering to invest in a project requiring a capital of

% 10,00,000. Forecast for annual net income before depreciation and tax is as follows : 14

Year ke Year k4
1 3,00,000 6 3,00,000
2 2,50,000 7 2,50,000
3 3,50,000 8 2,75,000
4 3,00,000 9 2,50,000
5 2,00,000 10 2,00,000

The company follows the straight line method of depreciation. Taxation is to be
regarded as 50% of profit. You are required to evaluate the project according to each of

the following methods :

AF-116 13 P.T.O.



()

Profitability Index at 12% Discount factor.

(i1) Internal rate of return at 12% discount factor and at 15% discount factor.

Year

1

2

3

4

5

6

7

8

9

10

Present value of ¥ 1
at 12% discount

0.893

0.797

0.712

0.636

0.567

0.507

0.452

0.404

0.361

0.322

Present value of ¥ 1
at 15% discount

0.870

0.756

0.658

0.572

0.497

0.432

0.376

0.327

0.284

0.247

5. The sub questions below are provided with more than one answers. Find out true

answer and also show your necessary calculations in support : (any seven)
(1) X Ltd. has a budgeted material cost of ¥ 62,500 for the production of 12,500 units
per month. Each unit is budgeted to use 2 kg of materials. The standard price of
material is ¥ 5 per kg. Actual materials in the month cost ¥ 1,36,000 for 13,500
unit and 26,500 kg were purchased and used. What will be the material price

2

3)
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variance ?
(a) 1,000 (F)
(c) 3,500 (F)

(b)
(d)

< 3,500 (U)
% 7,500 (U)

The purchase department manager is usually held accountable for the

(a) Direct Material Price Variance

(b) Labour Efficiency Variance

(c) Variable Overhead Expenditure Variance

(d) Material Usage Variance

The data regarding Labour-expense about production of the Dasanudas Company
for March 2016 is as follows :

Actual paid direct labour (%)

Direct Standard Hours

17,280
4,000 hrs.

Standard wage rate per hour ) 4
3,600 hours
160

Actual paid hours

Abnormal idle time

Hence the labour efficiency variance and idle time variance will be respectively

(a) +2240 and +640

(b)

14

+2240 and —640

14
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(c) +4480 and —-1280 (d) —2240 and +640
Information of Anadi Ltd. :
Budgeted Actual

Variable Overheads (%) 10,000 9,500

Labour Hours 2,000 2,050
Production (units) 1,000 1,050

The variable overheads cost variance will be as under :
(a) -1,000 (u) (b)y +2,000 (F)
(c) +1,000 (F) (d) -2000 (u)

If the annual interest rate is 20%, what will be the present value of I 5,000
received at the end of the 4™ and 6" years ?

(a) 3,885 (b) 8,385
(c) 3,585 (d) 3,785
Compound interest is calculated on

(a)  Principal amount only

(b) Interest amount only

(¢)  On principal amount + Interest amount
(d)  On time value of money

The data regarding sales of the Sanyam Litd. as follows :

Standard Actual
Product
Units | Price per unit¥ | Units | Price per unit ¥
P 2,250 37.50 3,000 36.00
R 1,500 35.00 1,050 35.00

Hence the sales price variance and sales value variance will be respectively

(a) —4500 and +12,375 (b) +4,500 and -12,375

(c) zero and -15,750 (d) +4,500 and +28,125

If present value of total investment and present value of cash flow are equal then
project

(a) is unacceptable

(b) has a profitability index more than one

(c) has a profitability index less than one
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(d) has a profitability index is one

The Swar Ltd. wants to purchase a machine at the cost of ¥ 2,40,000. Its cash
flows in the 5 years are as ¥ 90,000, ¥ 1,20,000, ¥ 90,000, ¥ 70,000 and

T 60,000 respectively. Its expected rate of return is 10%. Present value factors of
discount for five years are 0.909, 0.826, 0.751, 0.683 and 0.621.

What will be the payback period of machine on the basis of discounted cash flow ?
(a) 2.87yrs (b) 3.87 yrs.
(c) 3.5yrs. (d) 4.5 yrs.

A company wants to invest I 9,60,000 in one project. Useful life of the project is
6 years and scrap value is I 60,000. Rate of taxation is 50%. Depreciation is to be
provided as per straight line method. Annual cash flow before depreciation and
taxation is as under :

< 1,80,000, X 3,00,000, X 2,84,000, X 3,50,000, X 4,25,000, X 3,50,000

What is the Average Rate of Return on investments ?

(a) 18.16% (b) 16.16%

(c) 32.64% (d) 16.94%
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